&?\t Xo§ Yﬂo?)t\egw\)
b

1

f-\t&)'w@dw

N =3 l Q.09
T-TEST 35,00
_ /TESTVAL=3.49 4,00
) /MISSING= ANALYSIS (
D /VARIABLES=VAR00001 “‘k: ?-’-Li ! %\,1 \G{UUL fo\e 5: OQ
/CRITERIA=CI (.95). D é il I\\JL (& Cxp 4, 00
— X =0,05 93443
T-Test < E ! oy 042 S,00
[DataSet0] PL X f (— 3,5 5 lf? 1’Hf_ Sl
! 32 2.00
One-Sample Statistics S
g (
Std. Error ) 66 ‘Q“Q Y
N Mean Std. Deviation Mean Qv 00
VAR00001 32 3.5000 1,13592 ,20080 5 00
One-Sample Test 5 OO
Test Value = 3.49 \/{ 0 Q
95% Confidence Interval of the
. Mean Difference Lj v 00
t df Sig. (2-tailedy Difference Lower Upper 5 0O
VAR00001 ,050 31 961 ,01000 -,3995 4195
T romEsT S o G — . ———500
@ /TESTVAL=3.49 _ Af\O Kavovik Lj ,@ g
“/MISSING=ANALYSIS V =3 , 4 9 Katav/o W‘ 0
/VARIABLES=VAR00001 o l L( 0
/CRITERIA=CI (.99) . of =0 0] Yovu/_ 5,09
,,,,,, \'_/‘\. ) : >( _ .\*" - {
T-Test “*-‘-4_:)/ 5 “3), 4 9 QIOO
07 —_—
[DataSet0] M ] BC/\ 2,00
J >0
One-Sample Statistics . \ 3;‘ . [ 3 < ©0
ool . 5400
Std. Error L T OOnlUa s
N Mean Std. Deviation Mean O% = (/'LI{ ) J 5‘ 0 O
- V? 2Y: 74 ¢
VAR00001 32 | 35000 1,13592 20080 / "-f-b) 0 }
/
One-Sample Test rd Lt_l 00
Test Value = 3.49 ' ) ( 0LV
99% Confidence Interval of the 5 oro
Mean Difference . ¢ .
t df Sig. (2-tailed) Difference Lower Upper J\L O Y
VARO00001 ,050 31 ,961 ,01000 -5410 5610 «Sz O/\)
k___'___/—‘—'"hf" S - ¢
T-TEST \ !
JTESTVAL=3.49 M 2 o L{ 9 m¢ A ‘ MoV 2,00
@ ~/MISSING=ANALYSIS - o(,Yﬂ 0To|xs) 0% u o
/VARIABLES=VAR00001
O’ l 0T TO\ =
JCRITERIA=CI (.999) . 9( 0,000| N\ V] P D | b{ .00
—— L —— —_— A f Y
‘J i) P, VS eN Pg :
-6 age
. ) 0399
Mox




T-Test

[DatasSet0)
One-Sample Statistics
N Std. Error
Mean Std. Deviation Mean
VAR00001 32 | 35000 1,13592 20080
One-Sample Test
Test Value = 3 49 o 7 -
99,9% Confidence Interval of
Mean _____t_r)g [_Zl’ﬁererrlc;ﬂw o
t df Sig. (2-tailed) Difference Lower Upper
VARO00001 ,050 31 ,961 ,01000 - 7196 1596
—_  T-TEST a

0,

/TESTVAL=3.495,

S i - Sl g —
/MISSING=ANALYSIS
/VARIABLES=VAR00001
/CRITERIA=CI (.95).

—~—~————————

p=0,495
=005

T-Test
[DataSet0]
One-Sample Statistics
Std. Error
N Mean Std. Deviation Mean
VAR00001 32 3,5000 1,13592 ,20080
One-Sample Test
Test Value = 3.495
95% Confidence Interval of the
Mean Difference
t df Sig. (2-tailed) Difference Lower Upper
VARO0001 ,025 31 ,980 ,00500 -, 4045 4145

Page 2




